UTC—UT1 [secs]

residuals [secs]

residuals [secs]

—0.20

—0.25

—0.30

—0.35

—0.40

—0.45

—0.50 L

0.02

0.00

—0.02

—0.04

0.02

0.00

—0.02

—0.04

utc—utl

fit apr11—apri12

:—ﬁt from : mjd:55666 ymd: 2011 4 15 dayno:105
C fit coef: —0.208715 —0.000565 sec/day
—fit coef: —208.715 —0.564566 milliSec/day <——Enter in file
1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1
5.57x10* 5.58x10* 5.59x10* 5.60x10*
MJD
Linear fit residuals Data—Fit [secs]
T T T T T T ! \ T T T T T T I T T T |
- rms resi:0.0231 secsTm *
1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
5.57x10* 5.58x10* 5.59x10* 5.60x10*
MJD
Linear fit residuals Data—Fit [secs]
T T T T T T J T T T T T T I T T T T ,
1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
18May 11 26Aug11 04Dec11 13Mar12



